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Try and solve the anagrams below. The first letter of each correct anagram can
be put together to spell the name of a famous Ballet. Who wrote it? 

Anagrams Solutions

1) IGANIPAN  (clue: very famous violinist and composer) ………………… 

2) RALEG (clue: English composer. Proms) ………………… 

3) AHOKTCIYSVK (clue:  He wrote the 1812 overture) ………………… 

4) NOSIRSI (clue: Barber of Seville opera) ………………… 

5) NKONWUN (clue: nobody new him) ………………… 

6) TRCEBUHS (clue: He wrote the Trout Quintet) ………………… 

7) DAHYN (clue: The ‘Surprise’ Symphony) ………………… 

8) YOLAKD (clue:  His School of singing) ………………… 

9) ZIALEBN (clue: Spanish composer) ………………… 
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Name of the composer……………………..
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Part One... 

 
        

          

Clue Question Clue Question

1) across D major has ……… sharps 11) across F minor has ……… flats

2) down G# minor has ……… sharps 12) across F major has ……… flat

3) down C# ……… has 4 sharps 13) down E minor has ……… sharp

4) across G minor has ……… flats 15) across A major has ……… sharp

5) across E major has ……… sharps 16) down C major and A minor have ………

6) down B minor has ……… sharps 17) across Bb major has ……… flats

7) across Ab major has ……… flats

8) across Db ……… has 5 flats

9) down Eb major has ……… flats

10) across F# minor has ……… sharps

Grid A

A B C D E F G
1 2 3 4 5 6 7

Grid B

Chopin Albeniz Bernstein Cage
Delius Copland Boccherini
Donizetti Alkan Elgar
Dvorak Bach  Beethoven

 
Please complete the following questions by adding a number. (except for
questions 3), 8) and 16) which require a word). (Question 14)is missing)

Clue Question Clue Question

1) across D major has ……… sharps 11) across F minor has ……… flats

2) down G# minor has ……… sharps 12) across F major has ……… flat

3) down C# ……… has 4 sharps 13) down E minor has ……… sharp

4) across G minor has ……… flats 15) across A major has ……… sharp

5) across E major has ……… sharps 16) down C major and A minor have ………

6) down B minor has ……… sharps 17) across Bb major has ……… flats

7) across Ab major has ……… flats

8) across Db ……… has 5 flats

9) down Eb major has ……… flats

10) across F# minor has ……… sharps
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